20228 & 20

N & Ol & At & & A

MNES
Hyey
eE2dg M)
S A QA(SIH) - NISAY - HES Ol &+ o4 SSa HmEET
MES 481,752 464,583 17,169
HYRIZH (MNES) 149,248 151,645 A2,397
AH2YHI(VES) 72,884 67,940 4,944
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72,884 67,940 4,944
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OAZA22Y 72,884
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201 Let24d] 61,634 63,135 A 1,501
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OJlegf=d8dES 20 A 8,640
— 2y 8,000& x18H x53| x12& 8,640
OPURSR= g 30,000& 102 300
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OSEs g4 P
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Os282= 23,820
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HdIIRS 1,200,000& 1228 14,400
+=ER3 160,000& = 12& 1,920
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SEEELSI 2AES
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OJI28ga#H=E 0 20,0003 x18H x12& 4,320
203 &2 =&H| 10,410 10,370 40
01 J|22H L RF=AH| 6,270 6,270 0
OJ| 22 RF=AH| 6,600,000& *95% 6,270
02 RIS R =X 720 680 40
OFAINZ 40,000 =184 720
04 2SI L RF=AH| 3,420 3,420 0
ORAN2ELERF=AH| 300,000& =122 *95% 3,420
MES AMBZEH] 332,504 312,938 19,566
F 0l ME T3 ALY 122,298 89,632 32,666
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01 At 22l Yl 24,600 4,800 19,800
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250,000& «12& 3,000
—OlHY AtEZ 30,000& x12& 360
OH Z bl 896
— FOXXAE “HEEAZHI
1, 1202 *BAl 2t 1CH* 100 896
OA & &Hl S X 3,452
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— FOXXAE RAABHAAE 29|
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30,000 *10H x93| x 12& 32,400
OXE S AR AU 24
10,0003 *3H »252 128 9,000
401 Al HI L £ 0HHI 8,800 14,000 N5,200
01 A& HI 8,800 14,000 N5,200
OF0XXAHEH A MHAEH ZA
8,800,000& 8,800
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2M: MES
HM: MBS AYAH
o] Al

|
©ol: FUMET ALY (chel & 9l)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 5,000 0 5,000
01 At 22l 5,000 0 5,000

OMBZT 22 00 A (ZUHO0A)
5,000,000& 5,000
SHEXSH 210,206 223,306 A 13,100

s - BE e 201,306 201,306 0
301 LA F 201,306 201,306 0
05 8% -0 -HHESEHS 190,020 190,020 0

os&d=+¢ 300,000& *39H x12& 140,400
OsH&NH= 300,000 39 %23 23,400
Os&3lo 42 20,0002 *39% «23| 128 18,720
Ot g 25,000 x150Y *23| 7,500
12 JIEtE 43 11,286 11,286 0
O - td =8 SHNsSE 7Y 11,286
— dErM I S & (200)

5703 »550H »30H <12 11,286

SEAN BxE2Z 8,900 22,000 A 13,100
401 AIEHI L 20 8,900 22,000 A 13,100
01 A& Hl 8,900 22,000 A 13,100

Os EAEFE 3A 8,900,000& 8,900




